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LOGICAL REASONING ASSIGNMENT 
 

1. A man drives a car for 15 km to the West from the radiostation. Then he turns 
left and goes 10 km. After this he turn right and goes for 18 km. Now in 
which direction is she going? 
xUth; mtuJ fhhpy; thndhyp epiyaj;jpy; ,Ue;J 15 fp.kP Nkw;FNehf;fp 
gazpf;fpwhh;. gpwF ,lJGwk; jpUk;gp 10 fp.kP nry;fpwhh;. gpwF tyJGwk; 
jpUk;gp 18 fp.kP nry;fpwhh;. ,g;nghOJ mth; ve;j jpirapy; nrd;W 
nfhz;bUf;fpwhh;? 
a. South   b. South – West  c. West  d. North – East 
 

2. Sub – Inspector travelled from his Police post straight 400 metres. He then 
turned left and travelled 500 metres straight after which he turned left again 
and travelled for 400 meters straight. He then turned right and walked for 
another 600 metres straight. How far is he from the Police – Post? 
xU cjtp Ma;thsh; mtuJ fhty;epiyaj;jpy; ,Ue;J 400 kP Neuhf 
nry;fpwhh;. gpwF ,lJGwk; jpUk;gp 500kP Neuhf nry;fpwhh;. kPz;Lk; ,lJGwk; 
jpUk;gp 400 kPl;lh; Neuhf nry;fpwhh;. ,g;nghOJ tyJGwk; jpUk;gp 600 kPl;lh; 
nry;fpwhh;. jw;NghJ mth; mtuJ fhty;epiyaj;jpy; ,Ue;J vt;tsT 
J}uj;jpy; epw;fpwhh;? 
a. 1.0 km  b. 1.1 km  c. 1.4 km  d. 1.8 km 
 

3. From a point P, Samir started walking towards South and walked 40 meters. 
He then turned towards his left and walked 30 metres and reached a point Q. 
The point Q is at what minimum distance and at what direction from the 
point P. 
rkPh; vd;gth; P vd;w Gs;spapy; ,Ue;J 40 kPl;lh; njw;F Nehf;fp nry;fpwhh;. 
gpwF ,lJGwkhf jpUk;gp 30 kPl;lh; nrd;W Q vd;w Gs;spia milfpwhh;. P 
vd;w Gs;spapy; ,Ue;J Q Gs;spapd; jpir vd;d kw;Wk; ,t;tpuz;L 
Gs;spfSf;Fk; ,ilgl;l J}uk; vt;tsT? 
a. 50 metres South – West   b. 45 metres South – East 
c. 50 metres South – East   d. 35 meters South – East 

 
4. Ram goes 30 metres North then turns right and walks 40 metres, then again 

turns right and walks 20 metres, then again turns right and walks 40 metres. 
How many metres is the from his original position? 
uhk; vd;gth; 30 kP tlf;F Nehf;fp nrd;w gpwF tyJGwk; jpUk;gp 40 kP nrd;w 
gpwF kPz;Lk; tyJGwk; jpUk;gp 20 kP nrd;W kPz;Lk; tyJGwkhf 40 kP 
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nrd;whh; vdpy; mth; njhlq;fpa Gs;spapy; ,Ue;J vt;tsT J}uj;jpy; 
epw;fpwhh;? 
a. 0 m  b. 10 m  c. 20 m  d. 40 m 
 

5. A girl started walking from her house. She first walked for 3 km towards east, 
then she turned towards north and moved 4 km in that direction. How far is 
the girl away from her house? 
xU ngz; jd;Dila tPl;bypUe;J elf;fj;njhlq;fpdhs;. Kjypy; fpof;F 
gf;fkhf 3 fp.kP J}uKk;> gpwF tlf;Fj; jpirapy; jpUk;gp 4 fp.kP. J}uk; 
elf;fpwhs;. Mts; jw;NghJ tPl;bypUe;J vt;tsT njhiytpy; ,Uf;fpwhs;? 
a. 3 km south b. 3 km north c. 5 km west  d. 5 km north-east 
 

6. Rasik walked 20 m towards north. Then he turned right and walks 30 m. 
Then he turns right and walks 35 m. Then he turns left and walks 15 m. 
Finally he turns left and walks 15 m. In which direction and how many 
metres is he from the starting position? 
u~pf; vd;gth; tlf;F Nehf;fp 20kP nry;fpwhh;. gpwF tyJ Gwkhf jpUk;gp 30kP 
ele;jhh; NkYk; tyJGwk; jpUk;gp 35kP elf;fpwhh;> gpd;G 15kP ,lg;Gwk; jpUk;gp  
ele;jhh;> ,Wjpahf ,lg;Gwk; 15kP elf;fpwhh; ,g;nghOJ mth;;; njhlq;fpa 
,lj;jpy; ,Ue;J vt;tsT njhiytpy; kw;Wk; ve;j jpirapy; cs;shu;? 
a. 15 m West  b. 30 m East  c. 30 m West d. 45 m East 

 
Directions for Questions 7-9: 

A is the son of B=A + B.  
A is the father of B=A - B 
A is the brother of B=A x B 
A vd;gth; B d; kfd; = A + B 
A vd;gth; B d; je;ij = A – B 
A vd;gth; B d; rNfhjuh; = A x B 

 
7. P + Q x R means 

a. P is the Father of R    b. P is the brother of R 
c. P is the Nephew of R   d. P is the uncle of R 
P + Q x R vd;gJ 
a. P vd;gth; Rd; je;ij   b. P vd;gth; R d; rNfhjuh;  
c. P vd;gth; Rd; rNfhjhp kfd;  d. P vd;gth; R d; khkh 
 

8. P + Q + R means 
a. P is the grandson of R   b. P is the Father of R 
c. P is the mother of R    d. P is the brother of R 
P + Q + R vd;gJ 
a. P vd;gth; R d; Ngud;   b. P vd;gth; R d; je;ij  
c. P vd;gth; R d; jha;  d. P vd;gth; R d; rNfhjuh; 
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9. P-Q-R means: 
a. R is the father of P  b. R is the uncle of P 
c. R is the son of P   d. P is the grandfather of R 
P – Q – R vd;gJ 
A. R vd;gth; P d; je;ij   b. R vd;gth; P d; khkh 
c. R vd;gth; P d; kfd;   d. P vd;gth; R d; jhj;jh 

 
10. If X is the brother of the son of Y’s son, how is X related to Y? 

a. Son   b. Brother   c. Cousin  d. Grandson  
X> Yd; kfdpd; kfDf;F rNfhjud; vdpy;> X, Yf;F ve;j tifapy; 
cwT? 
a. kfd;;       b. rNfhjud;   
c. khkd;> xd;W tpl;l rNfhjud;;   d. Ngud;       

 
11. Ex: 

   
     a. 11   b. 6   c. 3   d. 2 
 

12. Ex:  

   
      a. 0   b. 8   c. 125   d. 216 
 

13. Ex: 

   
a. 33   b. 145   c. 135   d. 18 
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14. Ex:  

   
a. 5   b. 19   c. 27   d. 89 
 
 

15. Ex:  

   
a. 16, 8  b. 49, 7  c. 36, 4  d. 25, 5 
 

16. Ex: 

 
a. 52   b. 54   c. 56   d. 58 
 

17. Ex:  

 
a. P   b. R   c. S   d. V 
 
 

18. Ex :  
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       a. 10C   b. 12C  c. 14C   d. 16C 
 

19. Ex:  

    
      a. 41   b. 64   c. 35   d. 61 
 

20. Ex:  

  
     a. 30   b. 13   c. 70   d. 118 
 

LOGICAL REASONING ASSIGNMENT 
Answer key  

 

1 2 3 4 5 6 7 8 9 10 

C B C B D D C A D D 

11 12 13 14 15 16 17 18 19 20 

C D C D A B B D B B 

 


